

نازنی کریمی

الف) $\frac{x-1}{x} - \frac{x}{x-1} \geq 0 \Rightarrow \frac{(x-1)^2 - x^2}{x(x-1)} \geq 0 \Rightarrow \frac{-2x+1}{x(x-1)} \geq 0 \Rightarrow \frac{1}{1+\frac{1}{x}} - \frac{1}{\frac{1}{x}} + \frac{1}{\frac{1}{x}-1} \geq 0$
 10f $\Rightarrow (-\infty, 0) \cup [\frac{1}{2}, 1)$

ب) $x \neq 1, 0, -1, -2$

$$\frac{x}{x-1} + \frac{1}{x+r} \neq 0 \Rightarrow \frac{x(x+r) + (x-1)}{(x-1)(x+r)} \neq 0 \Rightarrow x+r \neq 0 \Rightarrow x \neq -r$$

$$Df = \mathbb{R} - \left\{ 1, 0, -1, -r, -\frac{\omega}{r} \right\}$$

فصله ها به ازای $\frac{5}{2}$ ، $x = -2$ ، صفر می شود، $\Rightarrow (x^2 - 4)(\frac{1}{x^2} - 9) \geq 0$ الف
 $1D_f = (-\infty, -2] \cup [\frac{5}{2}, +\infty)$

$$\text{ب) } (\sqrt{y+1}) = (9 - \sqrt{x-1}) \Rightarrow y+1 = 9 + \sqrt{x-1} - 5\sqrt{x-1} \Rightarrow y = 8 - 4\sqrt{x-1} \Rightarrow x-1 \geq 0 \Rightarrow \boxed{x \geq 1}$$

$$\frac{\log(x^4 - x - 1)}{\sqrt{x^4 - 1} + 1} \Rightarrow x^4 - x - 1 > 0 \Rightarrow (x+1)(x^4) > 0 \Rightarrow \frac{-1}{+} - \frac{1}{+}$$

$$Df = (-\infty, -1) \cup (1, +\infty) \quad \text{---}$$

$$\sqrt{x^2-1} \geq 0 \Rightarrow x^2-1 \geq 0 \Rightarrow x^2 \geq 1 \Rightarrow \begin{cases} x \geq 1 \\ x \leq -1 \end{cases} \textcircled{5}$$

$$\sqrt{x^2-1} + 1 \neq 0 \Rightarrow \sqrt{x^2-1} \neq -1 \xRightarrow{\text{لا يوجد}} \text{Df} = \mathbb{R} \setminus \{ \} \quad \text{Df} = \mathbb{R} \setminus \{ \} \Rightarrow (-\infty, -1) \cup (1, +\infty)$$

$$v + ax - x^r \stackrel{-r}{\Rightarrow} v - va - \epsilon = 0 \Rightarrow a = -\frac{1}{v} \Rightarrow v - \frac{1}{v}x - x^r$$

$$x + \frac{1}{x} x - 2 \leq 0 \quad \Delta \Rightarrow \frac{9}{4} \Rightarrow \begin{matrix} 1 \\ 2 \end{matrix} \Rightarrow \begin{matrix} 2 \\ 1 \end{matrix}$$

$$\begin{array}{c} -x \quad x \\ + \quad - \quad + \end{array} \Rightarrow \text{Def} = [-x, x] \Rightarrow \boxed{b = \frac{x}{2}}$$

$$a + b = -\frac{1}{r} + \frac{r}{r} = \frac{r}{r} = (1)$$

$$f(x) \geq x \quad \begin{cases} x \geq 1 \stackrel{①}{\Rightarrow} 2x - 2 \geq x \Rightarrow x \geq 2 \stackrel{②}{\Rightarrow} \text{OK} \\ x < 1 \stackrel{③}{\Rightarrow} 2x + 2 \geq x \Rightarrow x \geq -2 \stackrel{④}{\Rightarrow} \text{OK}, x < 1 \end{cases}$$

$$\left. \begin{aligned} I \cap Y &\Rightarrow [Y, +\infty) \cap I \\ Y \cap E &\Rightarrow [-Y, 1) \cap E \end{aligned} \right\} I \cap E \Rightarrow \emptyset \quad D_f = [-r, +\infty)$$

$$f(a) = f(-1) + a \Rightarrow f((a+1)(1)) = 2a - 1 + a$$

$$f(a+1) = 2a - 1 \Rightarrow 1 \cdot a + 1 \cdot 1 = 2a - 1$$

$$10a = -1 \Rightarrow a = -\frac{1}{10} \Rightarrow \boxed{a = -\frac{1}{10}}$$

5

9

$$\sqrt{x-5} + \frac{1}{\sqrt{x-5}} + \sqrt{x+5} + \frac{1}{\sqrt{x+5}} + f \Rightarrow \left(\sqrt{x-5} + \frac{1}{\sqrt{x-5}} \right)^2$$

$$\sqrt{x-5} + \sqrt{x+5} + \sqrt{x+5} + \sqrt{x-5} \Rightarrow$$

$$\sqrt{x+5} + \sqrt{x-5} \Rightarrow \sqrt{x+5} + \sqrt{x-5} + f \Rightarrow \sqrt{x+5} + \sqrt{x-5} + f$$

10

V

$$f(x) - f(-x) = 5x^2 - x \Rightarrow f(x) - f(-x) = 5x^2 - x$$

$$f(-x) - f(x) = 5x^2 + x \Rightarrow f(-x) - f(x) = 5x^2 + x$$

$$f(x) = -5x^2 - \frac{1}{2}x$$

$$-f(x) = 5x^2 + x$$

$$\boxed{f(x) = -5x^2 - \frac{1}{2}x}$$

11

$$f(0) = f(-1) - m(-1) + m - 1$$

$$f(0) = 1 + m - 1$$

$$f(0) \Rightarrow \frac{1 + m}{2} = \frac{m+1}{2} \Rightarrow f(0) = 0$$

$$0 + 1 \cdot m = 1 \cdot m + 1 \Rightarrow f = 1 \cdot m \Rightarrow \boxed{m = 1}$$

1

9

$$f(x) + f\left(\frac{1}{x}\right) = \frac{2x^2 - 12x + 5}{x} \Rightarrow ax + b + \frac{a}{x} + b = \frac{2x^2 - 12x + 5}{x}$$

$$ax + \frac{a}{x} + 2b = 2x - 12 + \frac{5}{x} \Rightarrow \begin{cases} a = 2 \\ b = -5 \end{cases} \Rightarrow f(x) = 2x - 5$$

$$f(-1) = 2(-1) - 5 = \boxed{-7}$$

4

10

$$x-1 \geq 0 \Rightarrow x \geq 1$$

$$\sqrt{x-1} + \sqrt{y+1} \geq 0 \rightarrow x \leq 1 \text{ or } y \geq -1 \Rightarrow D_f = [1, 1] \cup [-1, 1]$$

$$\underline{a=0} \rightarrow \forall f(\cdot) = \mu_{m-1} \rightarrow f(\cdot) = \frac{\mu_{m-1}}{r}$$

19

$$\frac{\mu_{m-1}}{r} = \frac{18 + \delta m}{4} \rightarrow m = \frac{4}{r}$$

$$f(\cdot) = \frac{r0}{r}$$